
  

              DRUHÁ MOCNINA NÁSOBKŮ DESETI A 

DESETINNÝCH ČÍSEL 

(M-V-08-04) 

K daným číslům urči druhé mocniny dle příkladů. 

Příklad: a) 12002 = 122 . 1002 = 144 . 10000 = 1 440 000 

   b) 0,122 = 122 . 0,012 = 144 . 0,0001 = 0,0144 

 

Příklady dle a):  

1) 1702 =      5) 18002 = 

2) 14002 =       6) 190002 = 

3) 15002 =      7) 20002 = 

4) 1602 =       8) 1300002 =  

 

Příklady dle b): 

1) 0,72 =       11) 0,142 =      

2) 0,052 =       12) 0,0132 = 

3) 1,22 =       13) 0,0202 = 

4) 0,82 =      14) 0,00152 = 

5) 1,82 =       15) 0,00082 = 

6) 0,032 =      16) 0,000192 = 

7) 0,0062 =      17) 2,142 = 

8) 0,112 =       18) 3,172 = 

9) 0,0092 =      19) 13,122 = 

10) 1,402 =      20) 500,182 =  


